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(independent front suspension)

(solid rear axle suspension)

MAZDA
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LVDT (Linear Variable Differential Transformer)

Advantech Co. Ltd.
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Dynamic servo
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(Regulate DC Power Supply




xbf-x wf - (mm)
0
0.21
0.59
219
531
750
1.28
6.90
6.31
521
2.95

95



(Xbf- X wf) 180 kg
F (ko) X bf-x wf  (mm)

0 0

10 051

20 2.2

K] 3.9

40 102

50 951

40 9.29

30 8.92

20 8.44

10 1.56

0 5.75

(F)
(Xbf- X wi)

F g xbr-xw (“)
0 0
10 031
20 0.78
30 145
40 2.46
50 3.98
40 3.00
30 3.24
20 259
10 1.50

0 0.04



X)) 180kg

11cm)

11() V (mmrs)
54.05 203
8.44 1303
5.85 18.80
4,61 23.36
4.14 26.57
3.66 30.05



1F (k)
5
10
15
2
%
Q)
IF (ko)
200
220
240
260
280
300

320

1353
6.15
432
3.33
2.84
2.62

15¢cm)

51( )

2.18
4,08
6.12
.11
9.61
11.18

V(mmis)
11,09
2439
34.72
45.02
52..82
57.25

98



1= 120 kg 112 =100kg 1 3 =80 kg
k,= 80 kN/m 1 k2=60 kN/m 1k3 =50 kN/m
¢, = 100 N-s/m , ¢2 =80 N-s/m,c3 =60 N-s/m

M] 1[K] 1[C] 2.)
w0 0 140X103  -60X103 0
M= 0 10 0 K= -60X103 110X103 -50X 103
0 0 & 0 -50X103 50X103
1% -8 0
= -8 1“0 -60
0 -60 6
[M] 1[K] [C] Duncan 24)

0 0 10 0 -60 60
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. 120 0
0 -100
0 0 1
[B] =
0 0
0 0
0 0
[A] 1[B]
([$])
Xj 2
X34
X56
0.1838 +0.1947

100

0 0 0 0
0 0 0 0
00 0 0 0

0 140X103 —60X103 0

o

—60X 103 110X103 —50X103

0 0 —50X103  50X103

2.6) (XI+[A] 1(B]){z} = {0}
(X)

— 1.1437 2t 42.20151
-0.5224 £29.1981i
- 0.0839 £11.4707i

I 0.1838 - 0.1947i -0.1720-0.1779i -0.1720 +0.1779i 0.0459 +0.0466i 0.0459 - 0.0466i

0.2268 - 2392 -0.2268 +0.2392i -0.1076-0.1120i -0.1076 +0.1120i 0.0952 +0.0965i 0.0952 - 0.09651

0.0889 +0.0928
0.0045 - 0.0045i

i 0.0889-0.0928i 0.1528 +0.1585i 0.1528 - 0.15851 0.1291 +0.131Q 0.1291 - 0.1310i
0.0045 +0.0045i -0.0060 +0.0060i -0.0060 - 0.0060i 0.0040 - 0.0040i 0.0040+ 0.0040i

-0.0055 + 0.0055i -0.0055 - 0.0055i -0.0038 + 0.0038i -0.0038 - 0.0038i 0.0084 - 0.0084i 0.0084+ 0.0084i

0.0021 - 0.00221

0.0021 +0.0022i 0.0053-0.0053i 0.0053+ 0.0053i 0.0113-0.0113i 0.0113 +0.0113i

X = -oun
n12 = 6.719050 , £ 12 = 0.027
ndd = 4647763 1 £12 = 0.018

1.825675 , £ 12 = 0.007
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M] {x}+ [K]{x} = {0}

{xp [MJ"2[K]{x} = {0}
{x} = {X}eWt

(VI +[M] 1[K]){x} = {0}

03712 = 6719057 ~ (Bn34 = 4.647758 03,56 = 1.825674

(light damping) 2

(overdamped)

03n £
10 -60
(X+ 10X -60)= 0
X2+ 70\ + 600= 0
X2+ 203\ + 03 =0

280N =170 A2 = 600
2 0B3n X 1Hz £« 143
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(simple correlation coefficient)

X
N L
XXyj - y)
p=—F=
ji(xi-x)2Z(yi- 2
. (normalized standard deviation)
X X y
X y
y
_2> l'y 1)2
i
max(y )
c.0,
c.g.
cg ( )
2 (
2
( )
C.g.
Lft | 1i 1.20 1.26



cg ' (car boaly)

.- (IJ*' Cg2
4 L« ) A ft W
4-
1 N C.0.
cgl eg
g2 eg
Mt = 1070 kg
Mb = 911 kg
1= 64 kg
m2 = 95 kg
Lt = 1.20
Lt = 1.28
v cgl g2

MtLft=MbLf +Ma(Lft+L 1)
1070, 120= 911, (120-%) + 95 248

X«5 cm
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c.g. (car body)

X m?2 ml

c.g. 180 kg

eg.2 c.0.
eg.4 C.0.
X eg.2  egd

Mb = 911 kg

1 =100 kg

2= 80 kg
1 =0.06 1 eg.2
|2 =0.98 2 eg.2

(MA + mj + m2)xx —(mlxL1)+ (M2xL2)
(911 + 100 + 80) xx =(100 x 0.06)+ (80x0.98)

X» 8 cm



180 kg

c.0. c.g.4 2
1 2 c.g4 12 cm 85 cm
cg. c.g.2 c.g.4 g cm
| P
| = 1 Od+ Mbx0 2 + mix 0022+ 2X0.852
= 1376+ 911 X 0.082 + 100 X 0.022 + 80 X 0.8 2
— 140 kg- "
| m2
cg
50 kg C.g. 30 cm.

| r

l= 1pggt 90 X0.302 + 50 X0.302

= 250+ 50 X0.302 + 50 X 0302
— %9 kg-

v
walaauag

-~ v
weanw

717 4.3 ganadendauaniimisngg



cg.

a

1= 35 ky | )

2= 30 kg ( 1)

R=003 , r = 02286

L=1075 1 '2=0605 1 3= 013

I [
lg= -mr2+-"12
0 C.0.

I0 =4 egI+md2

= 2x(4—m5r +Em1|"z +mQL1_) + (4—m.1R2+Em1L,2~)

A A

26.03  kg-m2
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Mt (kg)

M =Mb +Ma +2M

C.0. c.g. C.0.

Lft X c.0. C.g. ()
Lit X c.g. C.g. ()

L,lc, LI, Ler 1s TL 1, Lsr

| t y cg.  (kg-m2)
il | cg.  (kg-m2
Kf
(N/m)
K K
K, f
Ksf+K,
Kr
(N/m)
K K

109



ct=o

C =cd 1 Cr=cg

3
- X¢, cg.  (bounce)
- dp Y (pitch)
- 6y X (roll
(
x5 1Xg
- X7 1Xg
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[ZFz=MtXq 1i +]

M XG= -c (Xs)-C (X6)-Cr(X7)-C1(X8)- K (X5)
K F(X)-Kr (X7)-Kr(X8)

[ . y= >pt K ™™™ 4]
Ipté p= -CfLft(X5)-CfLft(Xt)+ CrLn (X,)
+ CrLrt(X*)-KfLfL(XT)-KfLFL(X8)

FKELI (XT)+ KALH (X8)

ANM x=1In6r . +]

It 61=-CfLer (X5)+ CFLCI(X6)-CrLsr (X7)

+ CrLsi(Xs)-KfLer(X5)+ KfLcl(X6)
KE o KD K LX)



[MI{x}+ [c]{x}+ [K]{x} = {0} (-
0 =[X6.0 orf
M 0 0
(U DT
2(K f+ K1) 2(Kf . -KrLl' 0
o= Z(KILTL- Koot 1) 20¢ fLit + K rLit) 0
(K1L; +K L2
2(C +cr)

[C]

2<cfLf, -crL o 2(cf
(Cflz+CL2)

X} =[*1,x2,x3,x4 X5 X6

=[xc1dp,dr,xc1 ,0r]T

=N AN)*N|

(X6, 0p>0r]
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{x} =A{x} + B{u} ( 2
{y} =ci{x} + D{ }

M [C] - M] K]

A= B = Ogq
-3x3
[-3x3 N =3
(.2 3
[M] 1[K] 1[C] 3 (roll
1 2
(bounce) (pitch)
X
2
2(Kfot Kr rt) Z(Cfot Cr rt)
1
(.1 1 (L dof. approximation)
3

MEXG+2(CF +C r)X G+ 2(KF +K 1)X0 =0

VV Zdlt+CL,)V 2Kl +KL,)ep-0

CL+c L2): (K, 2 +KL2)

|0+
L 2 rs 9r+ 2 r
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(K + K :

0 (.3
Cbounce M.
, 2(KFLft + Krlat) (.4
“ pitch
|(KfLZ +KL2) (.5)
roll 1
3
XG,9p,0r
' 3
( )
Mt = 1070 kg
=1.20  Urt=128 L =0.805 Ls = 0.885
C.0.
Kf = 30.641 kN/m
e =rrn kK =180 kK=
36.927 kN/im  ( K{ 4.3 220 kg , Ksf
4.1 4.4 Okg 40

kg )



Kr = 45917 kN/m

K K
K'= - K, = 180 KkN/m
r Ksr+Kt 1
61.642 kN/m  ( Ksr 4.3
Okg 50k )
| 1= 2067 kg-m
(.4) Lft 1Lt 1Kf 1K
(wpitch) 171 Hz
Larry J. Howell  David c. Chang 11
m =134 kg-m
(.5 Lc 113, Kf 1K
(comﬂ) 2.27 Hz
Cf = 9.794 kN-s/m
4.5 4.9
0 kg 30 kg
Cr= 5141 kN-s/m
4.6 4.10
0 kg 30 kg

Mt 1Lf 1 Lt 1lc Ls

XG,dp, 9r

11
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angle (rad)

displacement (mm)

AR

=== Adulsmfiu
p = 09946
SD = 0.0222

time (sec)

02 04 0608 4 12 14 16 18

3 ) (coco 000001 (DN SR S R
""""""""""" AR5 ]
..... ,.........,.........;......,..,........,_ - ﬂl']ﬂﬁ‘:lﬁu

0.4 06 0.8 1 1.2 1.4 1.6
time (sec)

SHECERSS |

(XG)
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) ANATY
8 i e ;
(o)} H 5 -
S L e emon: A |SEIETY
p = 0.9621
1 (- oesbeesercbie. 8D 20,2102

time (sec)

It = 1309 kg- 2 1 1 = 282 kg-
Kf= 53882 kNim 1 Kf= 66.368 kN/m

Cf= 5535 kN-s/m 1Cr= 5388 kN-s/m

It It cf cr | | 1c flcsr
KoK
Kf K ] SR
st+ Kt
1
K K =g 1
r Ksr+ Kt

Ksf Ksr 76.903 kN/m 105.130 kN/m
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7 80 kg
50 kg 2

Mb= 1001 kg , Ma  =%5kg , Mw= 32kg

Lf =12 m, L1=126 m, t= 1205 m,L=0805 m ,Ls= 0885 m
| =1440 kgm2 5 Ir=259 kg- 1la = 2603 kg-

Kf= 46129 kN/m 1K =73299 kNIm , Kt= 163.124 kN/m

Csl= 8253 kN-s/m 1 ¢ = 6326 kN-s/m

32
7 (3.15)
7.2 kmhhr 2 1)
1 6 CM 10 cm 20 cm
10 cm 1 )

10 cm

B \
i
X
Y

20 cm i 10 cm :[
| I
I

31

~

]
1
1
d
=) =1 =4 ::1
2.1 HUaNNA lUMIANEINT T



displacement (cm)

(o]
Do G

0.1 0.2

3 3 LU il ag | e ;
: : ' o | ‘

‘ NITLAREUR
: : : gl sEEsssREEER &
:’ i : dautidng
..... D R e L1 e S T eott L
' \ i . ; . .
L i naswedeun NISARBUTN
: NN A L R TR

ABNAIT91

: b
L NATLARDUN -
: 2. Al

nsIARBUN

NNt o : AauaEae
R LNV B R

) .

H ‘

\ H |
I I S R e s NI ot e TR [t e R e ! [ e et 2

0.3 0.4 0.5 0.6

time (sec)

6cm 10 cm

10 cm ( 7.2 kmihr)

0.7

20 cm

0ct
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MAIN.m
MODEL3.m
3 7
MAIN.m

%% MAIN.m
%% READ INPUT FROM TEXT FILE
|oad D:\PFBA.txt
data=PFBA4;
for 1=0:3799,

chO(i+1)=data(8*i+1); chl(i+])=data(8*i+2); ch2(i+1)=data(8*i+3);
ch3(i+/)=data(8*i+4); chd(i+l)=data(8*i+5); ch5(i+l)=data(8*i+6);
ch6(i+1)=data(8*i+7); ch7(i+l)=data(8*i+8);

end

%% FILTER SIGNAL

order=8;

[B,A] = BUTTER(order,20/100);

vI=filter(B,A,chQ); v2=filter(B,A,chl); v3=filter(B,A,ch2);
va=filter(B,A,ch3); vo=filter(B,A,ch4); vo=filter(B,A,ch5);
v7=filter(B,A,ch6); v8=filter(B,A,ch7);

%% CREATE TIME VECTOR (SAMPLING FREQUENCY 200 HZ)
dt="1/200;

N=length(chOQ);

MODEL7.m

122



Tfinal=N*dt:

t=0:qt:Tfinal;

t(N+)=[];  %tisavector length =N

%% REMOVE MEAN

x=fmd(t==14)

Y=find(t==18)

VI=v1-mean(vl (XY)); - v2=v2-mean(v2(X:Y))
v3=v3-mean(v3(X.Y)); ~va=vd-mean(v4(X:Y)),
V5=v5-mean(v(X:Y));  vo=ve-mean(v6(X:Y));

V7=v7-mean(v7(X:Y));  v8=v8-mean(v8(X:Y));

%% CONVERT VOLTAGE TO DISPLACEMENT
SNS1=300 ; SNS2=307.1;

SNS3=298 ; SNS4=315.8;

SNS5=309.6; SNS6=474.8;

SNS7=317 ; SNS8= 3045 ;

XI=v6/SNS6;  x2=V5/SNS5;

X3=V8/SNS8:  x4=v7/SNST:

X5=v2/SNS2:  x6=vI/SNSI:

X7=V4/SNS4;  x8=v3/SNS3;

%9% SELECT RANGE AND CREATE NEW TIME VECTOR
tmp_i 1=find(t==5.275)-1

tmp_i2=fmd(t==5.275+2)-1

xInew=xI(tmp_il :tmp_i2);  x2new=x2(tmp_i L:tmp_i2);
x3new=x3(tmp_il :tmp_i2);  xdnew=x4(tmp_i L:tmp i2);
x5new=x5(tmp_il :tmp_i2);  x6new=x6(tmp_i L;tmp i2
XTnew=x7(tmp_il tmp_i2);  x8new=x8(tmp _il :tmp i2
%% CREATE NEW TIME VECTOR

dt=1/200 ;

Nnew=length(x Inew);

)
)

1



Tfmalnew=Nnew*d;

tnelv=0:dt: Tfmalnew:

tnew(Nnew+1)=[];

%% CHANGING COORDINATE

L=248; Lf=120; Lr=248-Lf

Lx=2*0.7325; Ly=2*0.7625; Lz=2*(0.6025+0.);
TMIE[L L2, 1-L22);

TM2=[L Lf L2, 1L -Lxf2;  I-LrLy/2];
AXLE = inv(TMI)*[x3new;x4new];

XA=AXLE(L,),

TA=AXLE(2,0;

PLANE = inv(TM2)*[x5new;x6new;x7new];
XG=PLANE(L,);

TP=PLANE(2,.);

TR=PLANE(3,:);
96%%%%%6%6%%%%%6%%%%%6%%%% %%%%%%%%% FIT 3DOF. MODEL
=zeros( 1 length(XG));

tnelv=tnew’;

% FIXED VARIABLE

Lrt = 1.28;Lft = 1.20;Lc = 2*0.4025;Ls = 2*0.4425;mt = 1070;
% VARIABLE PARAMETER

kt=180e3; Oftyre stiffness (L tyre)
kf=36.927e3*kt/(36.927e3+kt); Y%rice rate 1 spring
kr=61.642e3*Kt/(61.642e3+kt); Y% ride rate

Ipt=(2*(kf* Lt Lt+kr<Lrt*Let))/((2*pi*1.71) &)

Irt=( (kf+kr)*(Le/2)A2 + (kf+kn)*(Lsi)R) | ((2*pi*2.27)R)
cf=30%9.81/(0.11/3.66)

cr=30*9.81/(0.15/2.62)
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%% FITTING

WKDATA3-=iddata([XG', TP, TR u,at);
MATHMD3=idgrey('MODEL3' [Ipt;Irt;kf:kr,cfer], ¢, [XG(1); TP(I); TR(I);mt;Lrt; Lft; Le; Ls]);
MATHMD3, Algorithm.Focus—Prediction’; % ‘Prediction’ ‘Simulation’
MATHMD3 Algorithm.Maxlter=40;

MATHMD3.Algorithm. Tolerance=0.0000000001 ;

MATHMD3 Algorithm. Trace="on"
ESTMD3=pem(WKDATA3MATHMD3);

ESTMD3.ParameterVector

figure;compare(WKDATA3,ESTMD3);
%6%%%%%6%%%%%6%%%%%%%%%%%%%%%% FIT 7 DOF. MODEL
%% FIXED PARAMETER

mb=911, %hody mass

mw=32; %%front wheel mass (1 wheel)
ma=95; Ofrear axle mass +2 wheel mass
Lr=134 Y%rear wheel to c.g. distance
Lf= 114 %front wheel to c.g. distance
Lt = 2*0.6025; %half track width

Lc = 2%0.4025;

LS = 2*0.4425;

1a=26.03;

%% VARIABLE PARAMETER

Ip=ESTMD3.Par(l);  Y%pitching mass moment of inertia of the hody
Ir=ESTMD3.Par(2); ~ %rolling mass moment of inertia of the hody
kf=ESTMD3.Par(3);  %front suspension stiffness (L spring)
kr=ESTMD3.Par(4);  %rear suspension stiffness (1 spring)
kt=180e3; Y%tyre stiffness (1 tyre)

ksf=kf*kt/(kt-kf);

ksr=kr*kt/(kt-kr);



csf=ESTMD3.Par(5);
csr=ESTMD3.Par(6);
%% FITTING

WK, DATAT=iddata([xInew’ x2new' XA' TA' XG' TP, TR],u,dt)

MATHMD7=idgrey('MODELT'[Ip; r;ksf;ksr;csf:csr:kt],'c', [xInew(l);x2new(l):;...

XA(L); TA(L);XG(1);TP(1); TR(L);ma;mw;mb;Lr,Lf,Lc'Ls;Lt; la]);
MATHMD?7 Algorithm.Focus-Prediction’; % 'Prediction’ "Simulation'
MATHMD?. Algorithm.Maxlter=40;

MATHMD?T.Algorithm. Tolerance=0.0000000001 ;
MATHMD?Y.Algorithm. Trace-full’
ESTMDT7=pem(WKDATAT7 MATHMD?);
PARA7=ESTMDT ParameterVVector
figure;compare(WKDATAT7,ESTMDY);

MODEL3.m
%%% MODEL3.m
function [A,B,C,D,K 0] = MODEL3(par, T,aux)
Ipt = par(l); Irt = par(2);
kf = par(3); kr = par(4);
of = par(3). or = par(6);
XGS0 = aux(l); TPSO  =aux(2);
TRSO = aux(3); mt = aux(4),

Lr =aux(b), Lf  =aux(6),
Lc  =aux(/); Ls = aux(8),
%9% SIMPLE FORM

M=[mt 0 0

0 Ipt0;

126
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00 I,
KK=[ 2*(kf+kr) 2% (kF*Lf - kreLr), 0;
2¥(KFFLE-krLr)  2%(kF*LfA + kr*LrA) 0;
0 0 (kf*LcA2+kr*LsA)/2);
cc=[ 2¥(cf+cr) 2*(cf*Lf- crxLr) 0;
2¥(cf*Lf-crkLr)  2%(cf*Lf*LEf+ creLriLr) 0t
0 0 (cPLcAR+cr*LsA)2);

%% STATE SPACE FORM
A=[-inv(M)*CC -inv(M)*KK:eye(3),zeros(3)]; % 14*14

B=zeros(6,l); % 14* 1
C=[zeros(3),eye(3)]; % 7*14 show displacement response 7 points...
D=zeros(3,));

K=zeros(6,3);
X0=[0;0;0;XGS0;TPSO; TRS(] ;

MODEL7,m
%9%% MODEL7.m
function [AB,C,D,K O] = MODELT7X par, T aux)
lp=par(l),  Ir=par2);  ksf=par(3);  ksr=par(4);
csf=par(5);  csr par(6); kt=par(7); %kt = par(8).
X180 = aux(l); X250 =aux(2); XASO = aux(3);
TASO = aux(4) XGSO  =aux(d); TPSO = aux(6);
TRSO = aux(7) ma = aux(s), mw = aux(9);
mb = aux(io); Lr =aux(Il); Lf  =aux(12);
Lc  =aux(13); Ls  =aux(14); Lt =aux(15);
la = aux(16);



%% SIMPLE FORM

M=[mw000000; Omw00000; 00ma0000; 0001a000;

0000mb00; 000001p0; OOOOOOI;

KK= [ ksftkt 0 0 0 kst -ksf*Lf -(k
0 ksf+kt 0 0 -ksf  -ksf*Lf (ksf*Lc)2
0 0 2%(ksr4kt) 0 -2*ksr 2*ksr<Lr 0
0 0 0 (ksrLsA+kt*LtA)2 0 0 -(ksr*LsA2)2
kst kst -2%ksr 0 2%(ksf+ksr) 2*(ksP:Lf-ksr*Lr) 0 ;
-ksfrLf  -ksP'LE  2*ksr*Lr 0 2*(ksP*Lf-ksr*Lr)  2*(ksfrLfA2+ksr*LrA) 0

st*Lc)/2

-(ksf*Lc)2  (ksPLc)™ O -(ksr*LsA2)2 0 0 (ksPLcA2+ksr*LsA2)2 ],

cc=[ csf 0 0 0 -€sf  -CsfLT -(csf*Le)/2
0 cf 0 0 -csf -csf'Lf (csf'Lc)™
0 0 2%(csr) 0 -2%csr 2*csr*Lr 0
0 0 0 (csr*LsA)2 - 0 0 -(csr*LsA2)12
-csf-csf -2%csr 0 2*(csf+esr) 2*(csfrLf-csrLr) 0

-CofFLE -csfLf 2%csrtLr 0 2*%(csPLf-cor*Lr)  2*(csftLfA+csr*LrAR) 0

-(csf*Le)2  (cst*Le)2 0 -(csr*LsA2)2 0 0 (csfiLcA+csr*LsA)2 |,
%% STATE SPACE FORM

A=[-inv(M)*CC -inv(M)*KK:eye(7),zeros(7)]; % 14* 14
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B=zeros(14,)); % 14* 1
C=[zeros(7),eye(7)]; % 7* 14 show displacement response 7 points...
D=zeros(7,l);

K=zeros(14,7);
X0=[0:0;0:0:0:0,0;X150;X250; XAS0; TAS0;XGS0; TPSO; TRSO];



SIMULATE.m

%9% SIMULATE.m %9%9%%

close all:clear:

9%6%%%%%%%%%%%%% PARAMETER

mb=911+180; mw=32; ma=95;

Lr= 126, Lf= 122, Lc=2*04025; Ls =2*0.4425;Lt = 2*0.6025;

1a=26.03;1p=1376+64; Ir= 250+9;

ksf=46129;ksr=73299;

csf=8253;¢sr=6326;

ki=163124;

%6%%%%%6%%%%%%%%% SIMPLE MODEL

M=[mw 000000; OmwOOOQO; 00ma0000; 000la000;

0000mb00; 000001Ip0; OOOOQQI;

KK=[ksf+kt 0 0 0 kst -ksPLf -(ksf*Lc)/2
0 ksf+kt 0 0 -ksf  -ksf*Lf (ksf*Lc)/2
0 0 2%(ksrHkt) 0 -2*ksr 2*ksr*Lr 0 ;
0 0 0 (ksrLsA2+kt*LtA)2 0 0 -(ksrLsR)2
-ksf kst -2%ksr 0 2%(ksf+ksr) 2*(ksPLf-ksr*Lr) 0 ;
-ksf'Lf  -ksfFLf  2%ksr*Lr 0 2*(ksf*Lf-ksrLr) 2% (ksPLEA+ksr*LrA) 0
-(ksf*Lc)2 - (ksf*Lc)2 0 -(ksr*LsA2)2 0 0 (ksPLcA2+ksr*LsA)2 |,
csf 0 0 0 -Cf  -CsfELf -(csf*Lc)/2
0 csf 0 0 -csf  -csfLf  (csf*Lc)/2
0 0 2%(csr) 0 -2%csr 2*csrrLr 0
0 0 0 (csr*LsA)2 0 0 -(csr*LsA2)12
st -csf -2%csr 0 2*(csf+esr)  2*(csfrLf-csrLr) 0 ,
-Cof*Lf  acsfrLE  2*csrrLr 0 2%(csfrLf-csrelr) - 2*(csPFLIA+csr*LrA2) 0
-(csfliLe)2  (csf'Le)™ O -(csr*LsA)2 0 0 (csf*LcA+csr*LsA)2 ],

%696%%%%6%%%%%6%%%%%%%%%%%%% STATE SPACE MODEL

A=[-inv(M)*CC,-inv(M)*KK;eye(7),zeros(7)]; % 14* 14
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Bl=[kt 0,0,0; 0k 00  00ktk 0,0 kt*Lt/2 -kt*Lt/2;
0000, 0000; 0000,

B=[inv(M)*B L;zeros(7,4)];

C=[zeros(7),eye(7)];

D=zeros(7,4);

sys=ss(A,B,C,D);

%6%6%%%%6%%%%%%%%%%%%%%%%%%% DEFINE INPUT

dt=0.001;

TI-0.8;

t=[0:0t:TH];

y 1=[0:0.0012:0.06,0.06*ones( 1,99),0.06:-0.0012:0,zeros( 1,600)]

y2=zeros(length(t), 2;

y3=zeros(length(t), 1);

y4=zeros(length(t),));

%6%%%%%6%%%%%%%%%%%%%%%%% SIMULATE RESPONSE

Y=Isim(sys,[yly2,y3,y4].0);

Xw L ML=Y(;, 1) XW2_ ML=Y(.,2)';

XA ML=Y(:3);TA ML=Y(: 4)';

XG_ML=Y(;,5)';TP_ML=Y(:6)’;

TR ML=Y(,7);

xwl=xw 1 MLxw2=XW2 ML,

XW3= x A MLALU2*TA ML Xwa=xA ML-LU2*TA ML,

Xpass=XG_ML+0.2*TP_ML+0.3*TR_ML;

figure;plot(t,le2*yl kIt le2*xwl,'r't le2*xw2,'q' t, le2*xw3, bl t le2*xwd,'y' t le2*xpass, ¢);

grid:xlabel('time (sec));ylabel('displacement (cm));



32 3.17)
-\
{ }+ diag(-X, -X25..- X4) { } = [$]T{q} (3
{2} = 5K } (2
1Zi = [X, x2,xa,0a,XG,0p, 01,X%, x2,Xd,0a1x0,6  #1]T
Ly~ 1> 20 #3 0 ~n #5 HO #7  #8 0 #9 0 #10 > #1 ~ 120 #13 414
(unit step function)
(¢ 8) (X)
Z 8 1
) i 14 1
() q 8
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